

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

07/27/2022 10:00 AM | Install Wednesday 07/28/2022 09:00 AM | Install Thursday 07/29/2022 09:00 AM | Install Friday 07/30/2022 | Event Date 07/30/2022 11:00 AM | Install Saturday 08/01/2022 09:00 AM | Strike Monday 08/02/2022 09:00 AM | Strike Tuesday PO: Shipping Address: 21 Beverly Park Terrace Beverly Hills

IN-0004718

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total Gen	eral	\$0.00
Cocktails					
	Siena Sofa - Off White w. Wood Base 8'L	4	\$550.00	Т	\$2,200.00
	Ottoman Pod 18"D instock Cover	8	\$45.00	Т	\$360.00
	NEW Cover Ottomans Pod 18"D	8	\$65.00	Т	\$520.00
	Accent Pillows - Instock	16	\$24.00	Т	\$384.00
	Accent Pillows - Custom	16	\$65.00	Т	\$1,040.00
F	Siena Dining Chair - Whitewash Wood paired with sit down tables	36	\$25.00	Т	\$900.00
	Lyon Bar Wood 6'8"L	4	\$550.00	Т	\$2,200.00
	Avignon Barback - Ornate Wood	4	\$200.00	Т	\$800.00
X	Florence Stand Up - Natural Wood 42"D	8	\$200.00	Т	\$1,600.00
	Panels - Hedge Panel 4'x10'	25	\$175.00	Т	\$4,375.00

and the

Description		Qtty	Price		Total
	Madrid Serving Cart - Gold Frame 44â% 🕅 â% 🕅 XVØ1â% 🕅 â% X 36â% 🕅 â% 🕅 H **All Glass shelving**	2	\$325.00	Т	\$650.00
			Total Cocktails		\$15,029.00
Foyer Entry					
	Custom Roman Shades for Entrance 48"W x 14'H Oatmeal Fabric	5	\$3,500.00	Т	\$17,500.00
	NEW Drape - Oatmeal Linen for the front entrance area; to blend in with the roman shades	1	\$3,500.00	Т	\$3,500.00
	Perimeter Drape - Off White Gauze w. Backing Approx 60' for each side of entry to camouflage the backside of hedges	1	\$4,400.00	Т	\$4,400.00
	Garden Sofas - Dahlia Gardens - Inverted Sofa Off White Frame with custom cushions and piping	2	\$350.00	Т	\$700.00
	NEW Cushions - Garden Inverted Sofa	2	\$250.00	Т	\$500.00
	Sconces - Square with custom lampshade	2	\$150.00	Т	\$300.00
			Total Foyer Entry		\$26,900.00
Reception					
	Wooden Facade - Less Rigging Points to cover all the trussing in wooden beams inorder to resemble a pergola feel TBD stain color	1	\$110,000.00	Т	\$110,000.00
	Partial Ceiling Fabric - Off White Gauze in 72 ^m W sections as shown in diagram normal pleat no backing	1	\$10,500.00	Т	\$10,500.00
	Stage Ceiling Drape - Off White Gauze 18' x 34' Normal pleat; no backing full ceiling	1	\$3,400.00	Т	\$3,400.00
	Perimeter Pullbacks - Off White Gauze no Backing 5'W Pullbacks to soften the overall look of the wooden structure; placed on each leg of the perimeter	34	\$250.00	Т	\$8,500.00
	Custom Barback Wall - 24'W x 12'H Shiplap Vertical Wall panels custom green paint color	2	\$8,750.00	Т	\$17,500.00
W. W. LANDAU MARKAN	Santa Fe Bar - Reclaimed Wood & Cane Back (2) Curved Ends	1	\$2,500.00	Т	\$2,500.00
	(2) Center Pieces				
	(2) Center Pieces Santa Fe Bar - Reclaimed Wood & Cane Back (2) Curved Ends (2) Center Pieces	1	\$2,500.00	Т	\$2,500.00

Description		Qtty	Price		Total
	Sevilla Large Pendant - Gold Frame w. Glass 19"W x 31"H - 25 Watts	40	\$375.00	Т	\$15,000.00
	Sevilla Medium Pendant - Gold Frame w. Glass 9"W x 18"H - 25 Watts	25	\$300.00	Т	\$7,500.00
	Sevilla Small Pendant - Gold Frame w. Glass 7"W x 16"H - 25 Watt	25	\$225.00	Т	\$5,625.00
	Custom Tablecloth - 134" Round Green/Tan floral print for 72" x 30"H round table	6	\$650.00	Т	\$3,900.00
	Custom Tablecloth - 304"L x 110"W Green/Tan floral print for 20' x 48"W x 30"H table	1	\$1,250.00	Т	\$1,250.00
UU	Florence Dining Table - Rectangular 10'x48"	7	\$650.00	Т	\$4,550.00
	Bali Round Dining Tables - Cane Back 72"D	4	\$550.00	Т	\$2,200.00
	Bali Square Dining Table - Cane Back 72"x72"	4	\$550.00	Т	\$2,200.00
	Pasadena Straight Banquette - Ivory 6'W	4	\$350.00	Т	\$1,400.00
R	Bali Dining Chair - Wood w. Cane Back	204	\$25.00	Т	\$5,100.00
	NEW Stage Front - Shiplap 32'W x 28"H Painted custom green with molding	1	\$4,500.00	Т	\$4,500.00
	Siena Sofa - Off White w, Wood Base 6'L	4	\$450.00	Т	\$1,800.00
P	Avignon Club Chair - Cane Back	4	\$200.00	Т	\$800.00
	Ottoman Pod 18"D	8	\$45.00	Т	\$360.00
	NEW Cover Ottoman Pod 18"D	8	\$65.00	Т	\$520.00
	Area Rugs - Oriental Ocre 8' x 10'	2	\$175.00	Т	\$350.00

1.1 元 []

Description		Qtty	Price		Total
	Area Rugs - Oriental Flowers Blue 8'W x 10'H	1	\$175.00	т	\$175.00
0	Area Rugs - Tribal Pastel Rosette - Blue & Cream ^{8x10}	1	\$175.00	т	\$175.00
	Accent Pillows - Instock	16	\$24.00	Т	\$384.00
	Accent Pillows - Custom	16	\$65.00	Т	\$1,040.00
			Total Recept	tion	\$216,479.00
Restrooms					
	Fabric Wall Facade - Bathrooms Onsite building of frame and fabric to cover the bathroom pods	2	\$3,250.00	Т	\$6,500.00
	Florence Console Table - White Wash Wood	2	\$225.00	Т	\$450.00
	Club & Lounge Chairs - Budapest - Armchair Green Velvet	2	\$175.00	т	\$350.00
	Budapest Vanity Chair - Green Velvet & Fringe	4	\$175.00	Т	\$700.00
	Versailles Wall Mirror - Carved Wood	2	\$250.00	Т	\$500.00
			Total Restroo	ms	\$8,500.00
Addtions 7.28					
F	Dining Chairs - Florence - White W/armrest & Wood Frame	2	\$24.00	Т	\$48.00
	CUSTOM Chair Covers - Malt Linen	110	\$50.00	Т	\$5,500.00
A	Dining Chairs - Bali - Wood & Cane Back	27	\$25.00	Т	\$675.00
	Dining Chairs - Shanghai - Wood Frame	2	\$24.00	Т	\$48.00
	TableCloth - Reception Barbacks	6	\$175.00	Т	\$1,050.00

escription	Qtty	Price	Total
		Total Addtions 7.28	\$7,321.00
ervices			
DAMAGED: Broken Shanghai Chair	1	\$110.00	\$110.00
Installers: Wednesday	10	\$500.00	\$5,000.00
Installers: Thursday	10	\$500.00	\$5,000.00
Installers: Friday	10	\$500.00	\$5,000.00
Installers: Saturday	10	\$400.00	\$4,000.00
Installers: Stand By Saturday	2	\$350.00	\$700.00
Installers: Strike Monday	10	\$500.00	\$5,000.00
Installers: Strike Tuesday	10	\$500.00	\$5,000.00
Trucking: STAKE BED ONLY	5	\$750.00 T	\$3,750.00
Trucking: Small Box Truck Rentals	4	\$1,250.00	\$5,000.00
Manger: Onsite (4) Days	1	\$3,200.00	\$3,200.00
Manager: Design & Layouts	1	\$3,500.00	\$3,500.00
Warehouse Production: Overtime	1	\$8,000.00	\$8,000.00
Custom Artwork: Hand Painting	1	\$4,500.00	\$4,500.00
Supplies: Misc	1	\$1,600.00	\$1,600.00
Certificates: Flame Proofing	1	\$950.00	\$950.00

Please make checks payable to Revelry, Inc.	Total Products:	\$274,229.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$60,310.00
Please ready the contract and sign it	Taxes (tax excempt):	\$0.00
, ,	Discounts:	(\$0.00)
Notes STAKE BED TRUCKS ONLY	Total:	\$334,539.00
STARE BED TRUCKS UNLY	Payments:	(\$334,539.00)
	Balance:	\$0.00